FRY5T-RHO—ILEBHEH

[2021:

it

R &b 2 )

FETIER

EREE 256 4

20214 8 A 238 {ERk

S ¥ DEREEEA

BAGRE

T BATS_AEERBS



20217=RY5T - RU)—)\VE B HEEREERAE
[REER_2HK)

2021458258
MBEXRAH(RLEEHEAILERO
519 EXFr
L EZE3ig0E
A= ILDH 197 4~ A
95T DH 5 4wt
A9—IL&H5T 45 4P
29— )L &FDith 9 »FfT
MXABEBTHEEFREE
W jith 5% 2 HE
T IRT D FH 59 4~ AT
a—h3K 325 m
MEER 90—k 9.0 M
AT DH 149 4~ Ff
a—h3K 3909 m
MR Fya—r 8 26 M
TIORART 48 4T
a—hK 429.3 m
MEER 9O —R 3K 8.9 m
MXABHEBTHEEFREE
BiAa—rmEE
Tk 630.5 m
ART 5147 @
& 11452 |
XABEBTREEFEE

BR)—/)LEAI—MIEHR(REE)

7k 247 m
AT 497.7 |
At 744.7 |

MABEBRTRAERMEC

A EIENE - 256 EXF

EfES 49%

HRELEERELMEBERERN-BEMISTT—2ER

25— e RZ7N&

9357,
18
957

20




2021 T=RHY57 - Ry— LB EEHERAET

[REHER]
[(RO—ILEEAE__£H]
[HBx®: BERER] 202059 A K 202153 K | @ | Hh*E
(1975 %) —f% 120,824 125,699 4875 104%
XA B THADEEHER] ety 4 57,623 60,223 2,600 105%
(F-RRHE) a5 178,447 185,922 7,475 104%
K RY—)LEREH
7447 E 240 250 10.0 104%
(F=R95TRREBAM_LH)
(B xR B|EATEE] 20204E9 A K 2021438k | #E% | H=E
(50 %) 977 DH 807 782 -25 97%
ST EENH  SEBEFRT h57° &AY-Il 6,844 6,782 -62 99%
h737°8AI-IEE : 45FEEFR
XA TN EEFERL
(F#R- KOHS) &5t 7,651 7,564 -87 99%
57 EREH
361 @ 21.2 21.0 -0.2 99%
AV—IVEREAH MREH_—HM=R
[—H=1]] 20204E9 A K 2021F3AK | HEEH¥ | H=E
OETEH (40EZEFT) —h% 27,897 29,181 1,284 105%
=ty 4 12,520 13,054 534 104%
1.1 40,417 42,235 1,818 104%
K RY—)LEAER
1325 H 305.0 318.8 13.7 104%
OHMFEJIR (23FFFR) —h% 14,113 14,435 322 102%
ey 4 5,670 5,935 265 105%
&Ft 19,783 20,370 587 103%
K RY—)LEAER
67 ® 295.3 304.0 8.8 103%
OTER (253%FN) — % 11,875 12,747 872 107%
$azZ7F 4,980 4819 -161 97%
&5t 16,855 17,566 711 104%
* RO—)L{EREEH
82 & 205.5 2142 8.7 104%
OIEGER (265%FN) —fi% 9,823 10,198 375 104%
2ty 4 4,752 5,050 298 106%
&5t 14,575 15,248 673 105%
* RO—)L{EREEH
69 M 211.2 221.0 9.8 105%




2021 T=RHY57 - Ry— LB EEHERAET

[REHER]
AO—IVIEFEAS NEREEH_ o5l
[#h 5 %1] 20205E9 A K 20215E3AK | ¥ | H=E
&ltimE-FiA (145FEM —fi% 5479 5,355 -124 98%
$az7y 2,564 2,641 77 103%
&5t 8,043 7,996 -47 99%
K RY—)LEREH
415 m 193.8 192.7 -1.1 99%
SBEEMA (114FEZERFT) —fi% 64,783 67,634 2,851 104%
$az7y 28,397 29,329 932 103%
&5t 93,180 96,963 3,783 104%
K RY—)LEREH
356.5 M 261.4 272.0 10.6 104%
o thEpih A (375X —fi% 11,144 11,659 515 105%
$az7y 6,577 7,111 534 108%
&5t 17,721 18,770 1,049 106%
K RY—I)LEREH
86.5 M 204.9 217.0 12.1 106%
&;a#hA (61FE R — & 27,769 29,260 1,491 105%
$az7y 14,374 15,383 1,009 107%
&5t 42,143 44,643 2,500 106%
K RY—I)LEREH
188.5 M 223.6 236.8 13.3 106%
O E-ME- AMA — & 11,649 11,791 142 101%
(25%F %P $az7y 5,711 5,759 48 101%
&5t 17,360 17,550 190 101%
K RY—)LERER
717 @& 2421 2448 2.6 101%
AO—VEFEAY NERFME__MERRER
(e R B Al ) 20204F9 A K 20215E3AK | ¥ | k=
7 IkDH  (51FEF) —h% 11,195 11,808 613 105%
TazZ7 6,640 6,947 307 105%
&Ft 17,835 18,755 920 105%
K RY—)LEAER
1375 ® 129.7 136.4 6.7 105%
[HEE% R RE Al ) 20209 A K 2021453/ K | HEEE | KX
QAR TDH (145FE%EFR) — % 82,012 85,081 3,069 104%
oa1z=7 38,594 40,488 1,894 105%
&5 120,606 125,569 4,963 104%
* RO—)L{EREH
380.9 @ 316.6 329.7 13.0 104%
[HEE R BRI ) 20205F9 A K 20214E3F K | ¥ | =X
7 Ih&A VLT (35FEERT) —h% 27,617 28,764 1,147 104%
D iy 4 12,356 12,747 391 103%
-1 39,973 41,511 1,538 104%
* RU—)L{ERTEH
2223 @ 179.8 186.7 6.9 104%




2021F7=RY57 - R)— IS EHEERERAE
[£EHEER]

[;BESFEMO—EFI9EFEHLER]
* BESEMOMIEE, TNENOEICENTEEBEFT P EERNREDHER

DHIETHA-O. SEELHERDAIFEERELIIEHLEFA.
(2020 9| L EERFEAERFDEIEESIA)

(A) AV—)
450
- 381 368 367 248 .
— -~ 329
g 350 ——— ¢
209
1 250 180 189 178 178
e 166
g e~ R
ES 151 131
w <0 110 114 114 3 111
2017.3 20183 2019.3 2020.3 2020.9 20213
=@=TF I T == KT TIORKAUERT
(AN) 721777 &Z7—)L
269
. 300 242 248 228 240 232
250 >
i1} —
200
145 150
# 100
; ® ——0= S :
# 0 T =0
2017.3 2018.3 2019.3 2020.3 2020.9 20213

== X — ) =@ TF_RI5T



2021F7=RY57 - R)— IS EHEERERAE
[£EHEER]

[;BESFEMO—EFI9EFEHLER]
* BESEMOMIEE, TNENOEICENTEEBEFT P EERNREDHER

DHIETHA-O. SEELHERDAIFEERELIIEHLEFA.
(2020 9| L EERFEAERFDEIEESIA)

" MBI RS — )L

346

350

300
— 291
[i]
z'z
14 250
= 245
8
2
0o 205 TT—
199 194
150
2017.3 2018.3 2019.3 2020.3 2020.9 2021.3

——tiEE - Rt —e=—PiR P —=ifE == f[E-E- LM





